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|R3.3. 27318 | EHHRBEAL (FIB) 2000 50| 1,045 0 0 0 0 0 0| 1.045 0
IR3.3. 27(3-19 | BHE#HRBAE KRES—TIL) 1080 &0 540 0 0 0 ] 0 0 540 0
|R3.3.27 3-20 | RIS R AAR (SDH—F) 1808| so] 940 0 0 0 0 0 ol 940 0
o | BEEAR
IR3.3.27 321 (B ey 5300 100] 5. 300] 0 0 0 ol 5390 0 0 0
oo | EEEEAR
|R3. 3.21|3-22 | R AR, ] s180} 100] 4 180 0 0 0 o| 4. 180 0 0 0
oo | EHBAR . _
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o4 | BHBAER :
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|R3.3. 27| 3-25 | BHHSBAR (EBr—T L) toso| sof 540 0 0 0 0 0 o| 540 0
_opn | EHEEAR
IR3.3.27 28 BRI B 514 5510] . 100| 5,510 0 0 0 ol 5510 0 0 o]
|R3.3.29 3-27 ’Eﬁ?'*ﬁm""’mﬁ(B‘GLOBE)*'W*““*WH aso| s0| 440 0 0 0 0 0 ol 440 ol
|R3.3.29 3-28 [ B - W BT IER AL (ST 54) ags0| 100] 3.850 0 0 0 o| 3850 0 0 —ol
R3. 3. 29| 3~29 |iE{E & - FEIEH 2 —v b HAKE (SHE2 B 5) 4691 so] 2.345 0 0 0 0 0 Ol 2,345 ol
R3. 3. 29| 3-30 :ﬁﬁgﬂﬁ'E*ﬁﬁ*ﬁﬁmﬂmmw%mm a277| 100] 4,277 0 0 0 ol 4277 0 0 o]
R3.3.3113-31 ﬁfﬁgg%mﬂ*ﬁwwz == 72,000 96| 70,070 0 70,070 0 0 0 0 0 o
R3.3.3103-32 ;%“fzﬁﬁgg%ﬁﬁ&mjb” == 81.363] 96| 78,108 0 78,108 0 0 0 0 0 0
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IR3.3.31 3-99 | B HEG as042] 98| 90,680 0 80, 680 0 0 0 0 0 0
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|R3.3. 15 3-35 | BB E/MTF AL BB (T HETL A2 E78) 30,000| 96{ 28,800 0 28, 800 0 0 0 0 0 0
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R3.3.31|3-39 ﬁﬁiﬁiﬁﬁ(Lﬂﬁ%ﬁl:ﬁbf:l\'X-QﬁS&iﬁﬁ) 928] 100 928 928 0 0 0 0 0 0 0 0 OI
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|R2.12.10 k&Y AE 8HS 375,473 0 0 0 0 0 0 0 0 0 0 0
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{R3. 4. 30 EREUAE 2890 144,677 0 0 0 0 0 0 0 0 0 0 0
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